
Floating Point Addition 

X: _____________ + Y:______________ 

X: _ _ _ _   _ _ _ _   _ _ _ _   _ _ _ _ Y: _ _ _ _   _ _ _ _   _ _ _ _   _ _ _ _

Step 1: Extract the exponent and value 

SignX: _ 

ExpX: _   _ _ _ _ 

ValX: _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _ 

2's ValX: _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _ 

SignY: _ 

ExpY: _   _ _ _ _ 

ValY: _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _ 

2's ValY: _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _

Step 2: Equalize the exponents 
Value of Largest Exp: __________    X:__ or Y:__ 

Shift Direction:   _________   Shift Amount: _______   X:__ or Y:__ 

New Val__: _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _  X:__ or Y:__ 

Step 3: Integer addition 

ValX:  _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _ 

ValY:  _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _ 

ValR:  _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _ 

Step 4: 2's comp to sign-magnitude 

MagR:  _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _  SignR: _ 

Step 5: Normalize the result 

ExpR:  _   _ _ _ _     SignR: _ 

MagR:  _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _ 

Norm MagR: _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _ 

Norm ExpR: _   _ _ _ _ 

Step 6: Reassemble components 

SignR:  _ 

ExpR:     _ _ _   _ _  

MagR:              *_ _   _ _ _ _   _ _ _ _ 

Answer: _ _ _ _   _ _*_ _   _ _ _ _   _ _ _ _ 


